
 Technical Bulletin PAGE: 1/1 

Model: Castor-PJ1 Date: 6-Jan-16 No.: RY057001 
 

 

Subject: PartsCatalog Correction Prepared by: Shingo Ishizu 

From: VC Products Support Sect., Solution Support Dept.   

Classification:  Troubleshooting 

 Mechanical 

 Paper path 

 Product Safety  

 Part information 

 Electrical 

 Transmit/receive 

 Other (     ) 

 Action required 

 Service manual revision 

 Retrofit information 

 Tier 2 

 

Change/ Reason: The parts highlighted in bold were newly added in the parts catalog. 

 

1. Projector 1 

Index 
No. 

Part No. Description 
Q’ty Per 
Assembl

y 
 

Index 
No. 

Part No. Description 

Q’ty 
Per 

Asse
mbly 

1 Y0573450 RING:FOCUS 1  11 Y0206077 POWER SUPPLY CORD:EU 1 

2 Y0573550 
OPTICS SECTION:MARCURY 
LAMP:CHN 

1  11 Y0206078 
POWER SUPPLY 
CORD:CHN 

1 

3 Y0571160 
COVER:UPPER:SUB-
ASS'Y:CHN 

1  11 Y0746079 
POWER SUPPLY 
CORD:Y07929 

1 

3 Y0571110 
COVER:UPPER:SUB-

ASS'Y:NA/EU/Y07929 
1  12 Y0206084 CABLE:RGB 1 

4 Y0571182 
PCB:SENSOR:PHOTO:RIMOTE 
CONTROL 

1  13 Y0576052 
INSTALLATION 
PROCEDURE 

1 

5 Y0571250 
COVER:MARCURY 
LAMP:ASS'Y:CHN 

1  13 Y0576053 
INSTALLATION 
PROCEDURE:NA/EU 

1 

5 Y0571251 
COVER:MARCURY 

LAMP:ASS'Y:NA/EU/Y07929 
1  14 Y0576070 CD-ROM:CHN:ASS'Y 1 

6 Y0571390 COVER:IO:CHN 1  14 Y0576072 CD-ROM:ASS'Y:WW 1 

6 Y0571391 COVER:IO:NA/EU 1  15 Y0576080 REMOTE CONTROL:CHN 1 

6 Y0791390 COVER:IO:Y07929 1  15  Y0426081  
REMOTE 

CONTROL:NA/EU/Y07929 
1  

7 Y0571400 FILTER:LONG:ASS'Y 1          

7 Y0571401 
FILTER:LONG:ASS'Y:NA/EU/Y0

7929 
1       

8 Y0571500 FILTER:SHORT:ASS'Y 1       

8 Y0571501 
FILTER:SHORT:ASS'Y:NA/EU/

Y07929 
1       

9 Y0571650 CAP:LENS 1       

10 Y0575251 PCB:MAIN:CHN 1  101 04523008N TAPPING SCREW - M3X8   

10 Y0575260 PCB:MAIN:NA/EU 1  102 03130080P PAN HEAD SCREW:M3X8   

10 Y0575257 PCB:MAIN:Y07929 1  103 03130060P PAN HEAD SCREW:M3X6   

11 Y0206076 POWER SUPPLY CORD:NA 1  104 04522608N TAPPING SCREW - M3X8   

 

 

 

 

 



 Technical Bulletin PAGE: 1/1 

Model: Castor-PJ1 CHN Date: 23-Mar-17 No.: RY057002 
 

 

 

Subject: Firmware Release Note: Main Prepared by: T. Sakakibara 

From: VC Products Support Sec., Solution Support Dept. 

Classification:  Troubleshooting 

 Mechanical 

 Paper path 

 Product Safety  

 Part information 

 Electrical 

 Transmit/receive 

 Other (Firmware) 

 Action required 

 Service manual revision 

 Retrofit information 

 Tier 2 

This RTB has been issued to announce the firmware release information for the Main. 

Version Program No. Effective Date Availability of RFU 

C07 Y0575519 1st release Not Available 
Note: Definition of Availability of RFU via @Remote  
“Available”: The firmware can be updated via RFU or SD card.  
“Not available”: The firmware can only be updated via SD card. 
 

Version Modified Points or Symptom Corrected 

C07 1st release 

 


	RTB 1: PartsCatalog Correction
	RTB 2: Firmware Release Note: Main

